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X? €\eyxoC: KAANC TPOCOPHOYNC OE ODEWPNTIKO HOVTEAOD

Hp: The sample comes from a population having a 9 : 3 : 2 : 1 ratio of
vellow-smooth to vellow-wrinkled to green-smooth to green-wrinkled
seeds.

H . The sample comes from a population not having a 9: 3 :3 : 1 ratio of
the above four seed phenotypes.

Yellow Yellow Crreen (ireen
smaoth wrinikled srtooth wititklecd 1
f; 152 39 53 6 250

H,: p,=9/(9+3+3+1), p,=3/16, p,=3/16,p,=1/16
H,: kdmoiLo drLadepel

H,: p,=0.5625, p,=0.1875, p,=0.1875, p,=0.0625
: KATOolo SLadpEPEL AMO TNV aviioTtoLyn TLUA

L
=

B.E. Mutepilykou UPatras Frevikd MaBnuatikd-BlootatioTiki



¥ YW G 'S GW X GuoA o
T, (59 o9 53 - 280
P, V¢ 3/1¢ 3¢ /6 |
Bnp  1490.03 406.%%  46.8%F (563 250
(7;-8,)* 0.2 .39 0.% 5 9% 897 3
g 2.

= i<
‘1 3 . L N ¢ 2 \ \
= T e ( I _h>,u 25 Q4 o Ty 89 npokgrend X

=1 g =) .
. g y 2 2
76(1'\(: Pe\ IITCQ Tuv .HD G'é o i - 6‘\‘5(\; X7 > ZL-—\ (DO
2

Al A (et = €25 Z; (0.06) =7.%\ 7[:(0-9‘113\7-':1-5“

wnot. (J-Ily oLan_ (H J N.MS}: Pal k/v( ( Hs)
0 ne B _ .
noTe 026 « P w\uua < 0.64 P-—w\uz: P( Z’; > Rt ): | = CHE CH\SQ (e.ﬂ)k\
- 0.6092%C > l-pchisqg(8.97,d£=3)

[1] 0.02969242

B.E. Muteplvkou UPatras Fevikd MoOnuoatikd-BlooTtaTtloTIikA 6



Hivakag: Twwv If._a ms T katavopis yua Tig omoieg

1 2
PX2>T2 )=a m Na v=100, Ii:a=5[31+-.|'2v—1)
' o e

B.e. a=0,995 a=0,990 a=0975 a=0,950 a=0,900 a=0,10 a=0,05 a=0,025 a=0,010 a=0,005 B.£.
1 0,0000393  0,0001571  0,0009821  0,00393217  0,0157908 2,70554 3,84146 5,02389 6,63490 7,87944 1
2 0,0100251  0,0201007  0,0506356  0,102587 0,210720 4,60517 5,99147 7,3777 9,21034 10,5966 2
3 0,0717212  0,114832 0,215795 0,351846 0,584375 6,25139 781473 9,34840 11,3449 12,8381 3
4 0,206990 0,297110 0,484419 0,710721 1,063623 Ik S 11,1433 13,2767 14,8602 4
5 0,411740 0,554300 0,831211 1,145476 1,61031 9,23635 11,0705 12,8325 15,0863 16,7496 5
6 0,675727 0,872085 1,237347 1,63539 2,20413 10,6446 12,5916 14,4494 16,8119 18,5476 6
7 0,989265 1,239043 1,68987 2,16735 2,83311 12,0170 14,0671 16,0128 18,4753 20,2777 7
8 1,344419 1,646482 2,17973 2,73264 3,48054 13,3616 15,5073 17,5346 20,0902 21,9550 8
9 1,734926 2,087912 2,70039 3,32511 4,16816 14,6837 16,9190 19,0228 21,6660 23,5893 9
10 2,15585 2,55821 3,24697 3,94030 4,86518 15,9871 18,3070 20,4831 23,2093 25,1882 10
11 2,60321 3,05347 3,81575 4,57481 5,57779 17,2750 19,6751 21,9200 24,7250 26,7569 11
12 3,07382 3,57056 4,40379 5,22603 6,30380 18,5494 21,0261 23,3367 26,2170 28,2095 12
13 3,56503 4,10691 5,00874 5,89186 7,04150 19,8119 22,3621 24,7356 27,6883 29,8194 13
14 4,07468 4,66043 5,62872 6,57063 7,78953 21,0642 23,6848 26,1190 29,1413 31,3193 14
15 4,60094 5,22935 6,26214 7,26004 8,54675 22,3072 24,9958 27,4884 30,577 32,8013 15
16 5,14224 5,81221 6,90766 7,96164 9,31223 23,5418 26,2962 28,8454 31,9999 34,2672 16
17 5,69724 6,40776 7,56418 8,67176 10,0852 24,7690 27,5871 30,1910 33,4087 35,7185 17
18 6,26481 7,01491 8,23075 9,39046 10,8649 25,0804 28,8693 31,5264 34,8053 37,1564 18
19 6,84398 7.63273 8,90655 10,1170 11,6509 27,2036 30,1435 32,8523 36,1908 38,5822 19
20 7.43386 8,26040 9 59083 10,8508 12,4426 28,4120 31,4104 34,1696 37,5662 39,9968 20
21 8.03366 8,80720 10,282903 11,5913 13,2394 29,6151 32,6705 35,4789 38,9321 41,4010 21
27 8.64272 9.54249 10,9823 12,3380 14,0415 30,8133 33,9244 36,7807 40,2894 42,7956 22
23 9,26042 10,19567 11,6885 13,0905 14,8479 32,0069 35,1725 38,0757 41,6384 44,1813 23
24 0.8BA23 10,8564 12,4011 13,8484 15,6587 33,1963 36,4151 39,3641 42,9798 45,5585 24
25 10,5197 11,5240 13,1197 14,6114 16,4734 34,3816 37,6525 40,6465 44,3141 46,9278 25
26 11,1603 12,1981 13,8439 15,3791 17,2919 35,5631 38,8852 41,9232 45,6417 48,2899 26
27 11,8076 12,8786 14,5733 16,1513 18,1138 36,7412 40,1133 43,1944 46,9630 49,6449 27
28 12,4613 13,5648 15,3079 16,9279 18,9392 37,9159 41,3372 44,4607 48,2782 50,9933 28
29 13,1211 14,2565 16,0471 17,7083 19,7677 30,0875 42,5569 45,7222 49,5879 52,3356 29
40,2560 43,7729 46,9792 50,8922 53,6720 30
51,8050 55,7585 59,3417 63,6907 66,7659 40
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[1] 0.002705916
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